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Puu = F%lpu + F%lpv + Lv,
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HHTEI LD A P = p(ug,v9) Z U EDEIET 5.
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> MR < [5(0)]T 35t & —XRAEE.
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HERIHIAR & T H AR
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HhE E R v(t) = p(u(t), v(t)) 73,
> HIHAR R S, H@)| Wt IckST—ETH 5.
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»H3.

HE

fhm b o 2 R2RSHRD 55, REFNDDHDHRFET 57256
FZFHERIIR T H 5.

2023/01/26 6 / 14



e —EME

e

HEAR p(u(t), v(t)) DTHIAR <
i + 4T}, 4+ 200}, + 92T, =0
¥+ 4’02 + 2002, + 0°T3, =0

EES
thid p EoREBMER v(¢) T, v(0) = p(uo,vo),
4(0) = apu(ug,vo) + Bpe(uo, vo) E72 5 DHIIZ—DFET 5.
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EH (Mo TR OEAEH)
> JCR: XM ;U cCR™ #HE.
> theJ, acel.
> f: JxU — R
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dt
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> p: R2 O U — R3: [EHIdhmE

> y1(t),y2(t), y3(t) (0t <1):

> y1(1) = 72(0) = B, 12(1) = 13(0) = C, 13(1) =71(0) = A

> BOBFTIE BB L — FONEOEIE AABC HHIFIH
L [FAH.

> /A, /B,/C SIS p(A), p(B), p(C) 2B\ T &l
BT,

EH (VR - Ry DEM, 73X £ 10.6)
#IT A =pov; (1 =1,2,3) DRMITH 5 & %,

4A+413+40:7r+/ KdA  (dA=+EG - F2?dudv).
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[ E 6-1

[

IEDER a WA LT, F#EHE p(r,0) = (rcos@ rsind, L)
((r,0) € (0,00) x (—m,m)) OHBHFR v(¢t) T, KRDZE ﬁ:%f(ﬁ'kjﬁ_
bDERDHEI WV 1 4(0) = p(1,0), 4(0) = pg(l 0).
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[ 8 6-2

[

BT p: R x (0,00) — R3 %

p(u,v) := (sechv cosu,sechvsinu,v — tanhv) TH5 2 % & %,
wo-F-H _EDO#ER Ly := {(u,v) ;u = a,v > 0},

Cup = {(u,v); (u — a)? + cosh® v = b, v > 0} KT 2 HiimE L
DRHFIHERBRTH 2 Z e 2R LB E V. XL aeR,

be (1,00) IEHTDH 3.
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